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V= 1.3m X 1. 6m = 2.08 m®
)V — XA
2.08m - ( 0.3m X 0.46m ) = .94 m® 1.
1.90m X 23 = 3.80 m° 3.
[A] 7RI X &0
A= 1.3 X 4 = 5,20 mt 5.
A= 2.2m X 1.6m 2 = 7.04 i
7.04m - 0.3m = 6.74 i 6.
A= 2.34m X 1.6m 2 = 7.48 m®
7.48m - 0.3m 2 = 14.36 m 14.
> = 26.30 | ni 26.
AR X & D
A= 1.20 m X 1.60 m = .92 m® 1.
1.92nt X 2 3.84 m® 3.
XL D
H HukR A= 0.6m X x X 0.46 = 0.86 ni
0.87m X 2 1.74 m® 1.
)V — R A
7 Wi A= 0.3m X  0.3m X 7 = 0.28 i 0.
Foarrzy—h Xt &0
V= Im X 1.6m = 1.60 | m 1.
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MEATIRA A2 T X & 0
©) A= 2m X 1. 6m = 3.20 | nof
@ A= 2.7m X 1. Tm — 4.59 | m
® A= 3m X 1. Tm — 5.10 | nf

x = 12.89 | m 12.9
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PR SEAE AhE
N= 1 =~ 2.00 = 0.50 1.00 | [m] 1.0
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EAERR U L
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SRAERROIET | L= 3. 2m = 3.20 | m 3.2
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TER LR T
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a7y —p | V= 36.90m X 0.15m = 5.54 | m 5.5
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